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1. Rohtang Pass is located in :
(A) Pir Panjal range (B) Dhauladhar range
(C) Zanskar range (D) Shiwalik range
g o fr Soft H feem ¥ 2
(A) ©R 95@ St # (B) dremem soft F
(C) S=&R vt § (D) frarfas goft §

2. When was Shimla Radio Station set up ?
(A) 1994 (B) 1934
_(C) 1955 (D) 1938
e Wedt =vm w9 wofim fean a2
(A) 1994 # (B) 1934 #
(C) 1955 # (D) 1938 #

3.  Which valley of Himachal Pradesh is known for the production of honey ?
(A) Chamba Valley (B) Spiti Valley
(Cj Kullu Valley (D) Beas Valley
femme wn 1 fFw W # wmee SR & fow e s § 2
(A) </ W (B) fewdt =t
(C) #Feq] = (D) =9 Eﬂi’f

TBC : TPTCO-23-BC—A 2



4. Which place was called as Nagarkot in ancient period in Himachal
Pradesh ?

(A) Chamba (B) Bilaspur
(C) Kullu ' (D) Kangra
yHd Fa H feurad Ru $ fFE WA A TRER ® AW ¥ S @ oo ?
(A) == (B) faemag
(©) %] (D) e
5. Who is the Padma Shri Award 2022-23 winner from Himachal Pradesh ?
" (A) Dr. Krishan Lal Sehgal (B) Kedar Thakur
(C) Kulbhushan _ (D) Nek Ram Sharma
fearae WV @ 99 2022-23 1 TEHH [EER oo wE ¥ 2
(A) Bl F AA FETA (B) weR TEHT
(C) &A™ (D) & TH ¥
6. Arrange the following districts of Himachal Pradesh from North to South
direction :
(1) Mandi (2) Shimla
(3) Kangra (4) Sirmaur
Choose the correct answer from the options given below :
(A) (D), (2), 3), (4) (B) (@), 3), (2), (1)
(C) (1), (3), (2), (4) D) (3), (1), (2), 4)
femrae wew & frefafea el s F <faw feen # sgafea wifsd .
(1) =& 2 fermen
(3) AT (4) R
= fou Tu fowedt § ¥ W@ SW F gAE HIGA
(A) (1), (2), (3), 4) (B) ), 3), (2), 1)
(©) 1), 3), (2), 4) D ), (1), (2), 1)

TBC : TPTCO-23-BC—A 3 P.TO.



T Match List I with List II :

(@)
®)
(0)
(d)

List-I
(Dam)
Nathpa-Jhakri
Girinagar
Chamera

Pandoh

List-II
(River)
(z) - Beas
(@) Ravi
({ii) Sutlej
() Giri

Choose the correct answer from the ‘options given below :

@ @) @ (@

= 11

&)
() =™
@) e
(i) WG

A @ @) @) Gv)
B) @) @) G @)
(C) @i Gv) @ G)
D) @ @) G (v
g I & ogE I ¥ e S .
gt 1
(aE)
(@) TIAYT-FHA
) fifam
() =
(d) USE

() Rk

TRy T fawed @ W@ sw o e Fif

(A)
(B)
(®)
(D)

@ @ @ @
@ @ @) (Go)
@) @) @) @6
@@ @) @ @)
@ @) 6 )

TBC : TPTCO-23-BC—A



8. Which of the following are top three districts of Himachal Pradesh in District

Good Governance Index 2021 ?
(A) Hamirpur, Bilaspur and Kullu
(B) Kangra, Bilaspur and Una
(C) Hamirpur, Kullu and Mandi

(D) Bilaspur, Mandi and Hamirpur

foren guTR gEEE 2021 § feumw Wy & o d= oo Frefafea 3 @ w98 ® 2
(A) TR, foeag 3t Fee

(B) wimel, faemag 3R

(C) THRE, ooy 3R HE

(D) faemagr, 7t 3R TR

9. According to HP Economic Survey 2022-23, which is the area of operation of

holdings of Himachal Pradesh ?
(A) 9.44 lakh hectare (B) 23.04 lakh hectare
(C) 44.12 lakh hectare : (D) 55.67 lakh hectare

femmaa wew anfdfs wdam 2022-23 ® IER, femmw ww # Ffw wREen &
A T FAA T ?

(A) 9.44 TG BRI (B) 23.04 9@ BEI

(C) 44.12 9@ TRW (D) 55.67 WA BRI

TBC : TPTCO-23-BC—A 5 P.T.Ol



10. The per capita income of State is estimated to be ¥ 2,01,271 which is more -

than the estimated national per capita income for 2021-22 by T .............
(A) 44987 (B) 55675
(C) 51264 (D) 62745

mﬁuﬁwﬁam?2,01,271@ﬁ€maq3=rm%@rf%szoz1—zza?mﬂ’ﬂﬁﬁ

T wfa =af 3 @ 2 o Ay ¥
(A) 44987 (B) 55675
(C) 51264 (D) 62745

11. How many medals India won in Asian Para Games-2023 held in China ?

(A) 100 (B) 107

© 111 D) 105

o s o U @e-2023 § 9we ¥ R wew o ¥ 0
(4) 100 - (B) 107

(©) 111 D) 105

12. Which one of the water bodies separates the Andaman from Nicobar ?

(A) 11° Channel _ (B) 10° Channel
(C) Andaman Sea (D) Gulf of Mannar
SEUM AR frER B S S &9 o e ¥ 2

(A) 11° = (B) 10° &

(C) 3¥eAH PR (D) ¥=R =t T

TBC : TPTCO-23-BC—A 6



13. Farakka Project is related with which river ?
(A) The Ganga (B) The Beas
(C) The Kosi (D) The Teesta
e oRde F gy R R AR 2
(A) T | (B) =9
(C) HrEt (D)
14. Arrange the following rivers from North to South of India :
(1) The Beas (2) The Krishna
(8) The Luni (4) The Kaveri
Choose the correct answer from the options given below :
(A) (1), (3), (2), (4) B) (2), (4), (1), @)
(©) @), (), (©2), 1) D) (), @), 2), 3
ara ) Prefafaa TREd # s ¥ < e § wefen w163
(1) =9 (2) M
@) < 4) wd
ﬁ%ﬁqmﬁaﬁﬁﬁ%aﬂmmaﬂﬁaﬁhﬁ:
A) (1), 3); (2), @) (B) (2), 4), (1), 3)

(C) 4), (3), (2), (1) . D) (1), 4), (2), 3)
TBC : TPTCO-23-BC—A 7 P.T.O.



15. Match List I with List 11 :

List-I List-IT
(District) (State)
(@) Betul (1)  Madhya Pradesh
(b) Bhojpur (i) Bihar
() Raipur (tr) Chhattisgarh
(d) Anand (v) Gujrat
Choose the correct answer from the options given below :
@ B © @
A @) @ G Go)
B) @ G G) G
©€) Gv) &) G) Gib)
(D) @ @ @) Gv)
T I w G IR faem wi . |
et 1 =t 11
(Frem) (=)
(@) Sga @) HF W
(b) SIS @) foer
(c) TR (i) BT
(d) 3= () T
= R et § 4w sw o gm s
@ ) @ @
A @) O =G Gv)
B) @ @) G) G
© G @ G) Gi)
M @ @ G Go)

TBC.;: TPTCO-23-BC—A



16. Which of the following states receives floods in the winter months ?
(A) Assam (B) Kerala
(C) West Bengal (D) TamillNadu
T Y AR T H W o wEN § g St § 2
(A) IEH (B)
(C) df=H ame (D) dferTg
17. Gaza strip is related with :
(A) Black Sea (B) Dead Sea
(C) Tasman Sea (D) Mediterranean Sea
TS S 1 GEY R
(A) e GIR 9 (B) Td 9 §
(C) ¥9H §FR ¥ (D) sﬁwwﬁ
18. What is the name of Israel Parliament ?
(A) Diet (B) Majlis
(C) Sejm (D) Knesset
e F i w1 A 2
(A) 312 ' (B) wifer™

(C) & : D) &8

TBC : TPTCO-23-BC—A 9 - P10,



19. What is the old name of Taiwan ?
(A) Gold Coast (B) Persia
(C) Formosa (D) Ceylon
WM F QA AT FME 2
(A) TEE R (B) ufdmm
(0) wien (D) el
20. Which of the following objects is in motion ?
(A) Sewing machine | (B) Clock
"(C) Electric fan (D) Second’s hand of the clock
Fretfefian & ¥ weh e e s 8 & 2
(A) fomm =eita (B) Wt
(C) faseht &1 g D) =t # I%s + T
21. Fill in the blank :
Tara wanted me to write her name, but .............oovvrvvrvvnn.
(A) not of us had any paper to write
(B) neither of us have any paper to write on
(C) neither of we had any paper to write

(D) neither of us had any paper to write on
TBC : TPTCO-23-BC—A 10



22.

23.

24.

25.

Fill in the blank :

If T had submitted the form in time, ............... the admit card.
(A) they w;)uld have issued |

(B) they have issﬁed

(C) they would have been issued

(D) they had issued

Fill in the blank :

The bunch of flowers .......ccceeeeirrnnnn. beautiful.
(A) look (B) looks
(C) are (D) do not look

Choose the correct passive form of the following sentence :
We watched the last match at a cinema hall.

(A) The last match is watched by us at a cinema hall

(B) The last match has been watched by us at a cinema hall

(C) The last match was watched by us at a cinema hall

(D) The match was watched by us last at a cinema hall

Choose the correct direct form of the following sentence :

Saniya asked Shankar &hether she cduld accompany him to the tour.
(A) Saniya asked Shankar if he could accompany her to the tour..
(B) Saniya says, “Shankar, may I accompany you to the tour ?”

(C) Saniya said _td Shankar, “Can I accompany you to the tour ?”

(D) Saniya interrogated Shankar, “Can she accompany him to the tour ?”

TBC : TPTCO-23-BC—A 11 P.T0.



26. Which of the following sentences is grammatically correct ?
(A) Roni is junior than Tanvi.
(B) That plant is bigger then this one.
(C) She is far better than. her seniors.
(D) This reply is most appropriate than the previous one

27. Choose the appropriate synonym of the given word :

Extensive
(A) Widespread (B) Exclusive

(C) Elite (D) Narrow

28. Choose the appropriate antonym of the given word :

Affirm
(A) Substantiate _ -+ (B) Verify
(C) Deny (D) Aver

29. Choose the option which can replace the underlined segment in the given

sentence :

After seeing the result he pulled a long face.

(A) he cut a joke (B) he looked gloomy .

(C) he smiled broadly (D) he decided to work hard
30. Choose the appropriate one word substitution :

That which is not permitted.

(A) Forbidden (B) Impersonate

(C) Impressionable (D) Obscured
TBCE TPTCO-23-BC—A 12



31. ‘@W@'W%mmmﬁmﬁgﬁﬁ:
A =3 (B) wweei
(C) Ta& (D) HaA

32, fre # A FrW v ‘o W owd T ¥ 2
(A) I . (B) ¥
(C) 7% fodm (D) weFaH

33. fr= & P v EETE TR 2
(A) fu (B) WAy
(C) =ity (D) G

34, fe # /A SFE IR IS ¥ 2
(A) sTfes (B) v
(C)zmv_sﬁ (D) Hafed

.35. fr= dfedi & e oS ¥ ¥ 2
(A) T + WY = dEHA
(B) 3f: + | = Fag
(C)m+w=mﬂ

(D) & + 399 = GaNw
 TBC : TPTCO-23-BC—A 13 P.T.O.



36.

37.

38.

39.

40.

41.

ﬁnﬁﬁmm%aﬁﬂﬁﬂ:

(A) 7  ® w

C) ® D) =

f=1 4 4 s fade = =1 g oam T R 2
(A) Wf = (B) vl =awen
(C) W& =& (D) = e
=1 SFe e g w6 E 2

(A) &9 (B) <@g
(C) a=ad (D) 3ier
frefafea 4§ wye o= g3 .

(A) = (B) fa=e

(C) o= (D) &

-ﬁnﬁ@ﬁwwmwwqﬁ%?

(A) Hae (B) @ae
(C) R (D) ftoft
‘e’ v w1 oW faom g

(A) AR (B) 3mmvEd

(C) wforem D) 3R

TBC : TPTCO-23-BC—A 14



42.

43.

44.

In which Article of the India’s Constitution has Hindi been accepted as the
official language of Union of India ?

(A) 349 | : (B) 355 (1)

(C) 843 (1) D) 350

sl GfuE @ fEe aeie ¥ fd @ 9RG w9 oH qeerl SR
™ ¥ ?

(A) 349 (B) 355 (1)

(C) 343 (1) D) 350

When dealing with an unconscious casualty, you should check up to .......cc......

seconds for normal breathing.

(A) Maximum 2 seconds for normal breathing
(B) Maximum 5 seconds for normal breathing
(C) Maximum 10 seconds for normal breathing

(D) Maximum 30 seconds for normal breathing

fireft arae AR @ 1Y SRR Hd THA, STH! WEE @E & fag v Bt
qF <=9 HE Ted |

(A) TR §iE o & foau sifuead 2 d%e

(B) §Mg §W o & fou stfusad 5 ¥%e

(C) W §iW o1 & fou sifywan 10 ¥Fs

(D) 9 & o & fou sifuswan 30 d%e

How many compressions and breaths should ydu do for each cycle of CPR ?
(A) 15 compressions, 2 breaths (B) 30 compressions, 5 breaths

(C) 30 compressions, 2 breaths (D) 15 compressions, 5 breaths
AR F TOF IF B U SR R g o WiE ot el 2

(&) 15 T, z;hi:r (B) 30 Hdted, 5 WY

(C) 30 wited, 2 W (D) 15 ¥ded, 5 W

TBC : TPTCO-23-BC—A 15 P.T.O.



45. What is the correct sequence for the Primary Survey ?
(A) Damage, Response, Airway, Breathing
(B) Danger, Response, Airway, Breathing
(C) Danger, Reply, Artery, Breathing

(D) Danger, Response, Advice, Back
WafeF g F oW wH o ¥ 2

(A) @fa, wfafswan, amgant, vamg
(B) T, Wiifw=n, amgem, vam
(C) Tau, W, yut, O™

(D) T, gfafswan, e, amadt

46. What is not a sign of shock ?

(A) Pale, clammy skin (B) Increased pulse rate
(C) Nausea (D) Wide eyes and open mouth
HEH A F T R 2
(A) diet, faufadt = B) TE F= R H gfn
(C) el D) =<t fd iR gen de
47. What are the symptoms of third degree burn ?
(A) Charred skin, no pain (B) Charred skin, pain
(C) Blisters and pain (D) Red and pain

o feilt o & @am 71 § 2

(A) il g8 @, FE o2 A6 (B) <ot g€ =, <&

(C) @ 3R =8 (D) =& 3R =
TBC : TPTCO-23-BC—A 16



48.

49.

What are the symptoms of Hypothermia ?

(A) Warm and sweaty

(B) Cold and sweaty

(C) Cold, tired, shivering and acting abnormally

(D) Just very sweaty
TRl % A& @ % ?

(A) ™ 3R TER aren

(B) 381 3R WA amen

(C) 3=, U1 T2, FYSU TN 3R SFHE FAeR FA el
(D) %ae sgd THIA ATl

What is the first thing you should do for severe bleeding ?

(A) Put the victim in the recovery position.

-(B) Direct pressure with clean cloth or hand

(C) Cover with clean cloth

(D) Give oxygen

TR AEE & fAu U Fel ved w1 Al Wifed ?
(A) difgq = gvifa feafa & @

(B) 9% ®US &1 ¥¥ | €W @@ T

©) W% FT q =

(D) efafem 3

TBC : TPTCO-23-BC—A 17 P.T.O.



50. What is the main purpose of the Heimlich Procedure ?
: (A) To remove a blockage in the victim’s airway
(B) To treat the absence of a victim’s breathing
(C) To treat an insufficient breathing

(D) To stop bleeding due to injury

A wfran 1 g&9 Ry = 2
(A) difsa & argant § Tw@Ee & QW FA@ & fau
(B) difsa =t @@ o § FH &1 Tome FET
(C) @ Ya| &1 39 &0 & fau
(D) ﬁzwﬁm@?@%'ﬂaﬁ'zﬁm
51. What do you have to do when a passenger has no breathing ?
(A) Start CPR immediately
(B) Put the victim in the recovery position
(C) Continue with the breathing check
(D) Count pulsations |
v foeft ot = wiw T oo @ A A R FW ow ¥ ?
(A) T AR JE
(B) difsa =i fiat Isfivm § @
(C) ¥ =t Wrg Wt )
(D) ugHA w1 fid

TBC : TPTCO-23-BC—A 18



52. Cleanliness, physical exercise, rest and sleep are a part of ...................

(A) Hygiene (B) Social hygiene
(C) Personal hygiene (D) None of these
(A) T (B) WS Tl
(0) SR D) ¥ § FK T

53. Oncology is the study of :
(A) Skin (B) Tumor
(C) Teeth (D) Eye
sraefawT fgd semad & ¢ ?
(A) IHS & (B) et #1
(©) =i #: (D) e W
54. Goitre is caused due to the delﬁciency af
(A) Potassium (B) Calcium
() Wikaiiis 1@ 575 a7 ADyededie

e . frot wH F AW R ?

(A) dferm e (B) Sfevrm
©) faafm C ' (D) 3mAREH
TBC : TPTCO-23-BC—A 19

PT.0.



55.

56.

87.

Grant of conductor’s licence is provided under which section ?
(A) Section 29 (B) Section 30

(C) Section 31 (D) Section 32

- HEFN I WEHE fFE o0 @ Ted weH fewm wm & 2

(A) &1 29 (B) _%II'{T 30

(C) = 31 D) 9/ 32

Every application for a conductor’s licence shall be accompanied A Rt I
certificate.

(A) Medical (B) Fitness

(C) Both (A) and (B) (D) None of these

FeTN ARG B AT T ST B gy TS T FEA SR |
(A) HfeHa (B) fretm ‘
(C) (A) ¥R (B) I D) T § HE &

Revocation of a conductor’s licence on grounds of disease or disability is provided
under :

(A) Section 32  (B) Section 33

(C) Section 34 (D) Section 35

ERT A1 TR F UR W FIFRX F ARET H TG A H WEHE T SN

% wed feam mm ¥
(A) T 32 (B) 3734mm 33
(C) A9 34 : (D) ¥ 35

TBC : TPTCO-23-BC—A 20



58. Under the Motor Vehicle Act, 1988, what is the lowest age' for the driver to
drive a transport vehicle, other than a transport vehicle belonging to the Central
Government ?

(A) 16 years of age (B) 18 years of age

(C) 21 years of age (D) 22 years of age

TIex aTed oifuffam, 1988 & d&d, % SR § Hargd Iaed aed & 3Tl 74
ufaeT o 99 & foq = ® gFan g @ w2

(A) 16 =8 &I g (B) 18 a¥ = 3

(C) 21 @9 = Y _ (D) 22 ad = I

59. In terms of road safety, what do you understand by the term “Golden hour” ?
(A) That hour of day in which minimum road accidents take place
(B) That hour of day in Whi(.;h maximum road accidents take place
(C) The first hour after trauma in which if proper first aid is given, the accident

victim has a greater chance of surviyal and reduction in injuries

(D) The time during which one can dive at any speed.

gew [ ® Gl § ‘e R’ v ¥ o9 1 §WEA € 2
(A) &7 =1 9% w1 foud ge@ F9 g% et At €
(B) A =1 9% da fogd vad sfuw wow goed o §

(C) 3 & a5 Ugen Hel fawd afe sfaq wafrew Swer g wmg, @ gefew difsa
# Sifag w ok 9% § =t afus due Bt ¥

(D) 9% 99 foaa 3N =% fed ot afg | W & g ®

TBC : TPTCO-23-BC—A 21 P.T.O.



60.

61.

62.

National Road Safety Week is celebrated every year between :

(A) January 11 to 17 (B) January 22 to 28
(C) February 17 to 24 (D) January 7 to 13
UL Tgh T TWE YOF a9 (e *9 T o T2
A) 11 @ 17 S (B) 22 ¥ 28 wadt
(C) 17 ¥ 24 ®w&EQ D) 7 9/ 13 a1

Hazard warning lights should be used when vehicle is :

(A) In a traffic jam

(B) Racing with other cars

(C) Being ‘driven by a learner

(D) Broken down and czaiusingr an obstruction

TR H FAEA AT g w1 AN few S owifed, w9 9
(4) % 5= F &

(B) &7 ®/ % @y a1 A &

(C) grfam Hem e gR weferd @

(D) FSFA H FRU THEE F @A

Pan-India emergency number for fire, police and ambulance etc. is :

(A) 101 (B) 112
(C) 100 (D) 108
e, gferm oiR TEe ot & fau sifee wrRdm s de
(4) 101 (B) 112
(C) 100 (D) 108

TBC : TPTCO-23-BC—A 22



63.

64.

Who is eligible for free travel on all types of buses, including Volvo and AC

Buses, within and outside the State ?
(A) Ex. M.Ps. with one attendant

(B) Hon’ble M.Ps./M.L.As with one attendant

(C) Press Correspondents (State and District level)

(D) Press Correspondents (Sub-Divisional Level)

T & et iR s Wt WahR it o, dedl o o w6 ufed, W g A B
I A § ?

(A) Yd 9EE TH WEEF B Gy

(B) AHIE HiEe/faumas ©F WeEs & 9y

(C) ¥9 Harwd (o9 3l fen @)

(D) 9 HagHd (IY-TUSH FWR)

What is the annual free travelling limit for Press Correspondents in the

designated category of HRTC buses ?
(A) 5,000 kms (B) 15,000 kms

(C) 10,000 kms (D) 20,000 kms

HRTC =& #1 fiife soft & Yo worewaiel % forw @i o a0 < =0 & 2
(A) 5,000 ferairier (B) 15,000 fwairex

(C) 10,000 fairiex (D) 20,000 fwramRR

TBC : TPTCO-23-BC—A | 23 P.T.O.



65.

66.

What is the fare policy for children aged less than 5 years when travelling

on any type of bus ?

(A) They travel for free

(B) They are charged half of the fare
(C) They are charged the full fare

(D) The fare depends on the type of bus.

5 Hel ¥ FH Y & g=dl & fog fRE ot yER @ 99 W 9w 99g T
frm == ¥ 2

(A)agqawm-a%

(B) % amn fawwan 31 dar &

(C) 3% U fozman 2 @

(D) fFmn =9 & yR | fslR Fwa @

What is the discount offered to Smart Card holders for travelling in HRTC

buses ?
(A) 5% concession in fare (B) 10% concession in fare
(C) 25% discount in fare (D) 30% discount in fare

HRTC s9i § a1 &7 & fou @@ &€ dicsd & fham fempee wm foa

W ¥ ?
(A) 5% T § = (B) 10% f&mm § g
(C) 25% Tt ¥ &= (D) 30% e § e

TBC : TPTCO-23-BC—A 24



67. Who can purchase the Samman Card for travel in HRTC buses ?

68.

(A) Only senior citizens (B) General public

(C) Government employees (D) Children under 5 years

HRTC =€ ¥ a1 & fau o9F &€ & @i aFd § 2

(A) #ad Iftss i (B) WM S

(C) T D) s Y w oy d A

What should a driver do_ when they encounter a “Pedestrian Crossing Sign” ?
(A) Speed up to cross the pedestrian crossing quickly

(B) Ignore the sign aﬁd continue driving

(C) Slow down and be prepared to Istop for pedestﬁans

(D) Change lanes immediately

N9 RN T U HSH UR & Hehd'! w1 WEA HI@ € A I N HA A 2
(A) <t @ ME Wed A IR A B fou o ¥ =end

(B) WA # oIS W ol g wA F

(C) ¥ vl iR Yoo FwrE & fau T & fou dam ©

(D) @ o1 s

TBC : TPTCO-23-BC—A 25 PTO.



69. What does a “Yield to Pedestrians Sign” at a crosswalk mean ?
(A) Pedestrians must yield to vehicles
(B) Slow down and yield to pedestrians in the crosswalk
(C) Pedestrians cannot use the crosswalk
(D) Vehicles can proceed without stopping
T Rd aRE W 'Iedl & fau 9’ @ F waew § 2
(A) "% Ten A’ #® A & Cwafiwar’’ A
B) o W& iR “Yeet T TR F Yew A # a3 W
(C) a aRw &1 IWM 'IgA Fem |’ # T FA W
(D) T fam T M 5@ Hd ¥
70. What should you do when you encounter a “Slippery Road Ahead” sign ?
(A) Increase your speed to maintain control
(B) Keep a safe following distance
(C) Ignore the sign, it’s not important
(D) Change lanes frequently
o fewh TR W W @ W R T wn e 2
(A) fem s e & fag s fa aend
(B) TF T g gl T W
(C)ﬁﬁaﬁmﬁmﬁﬁ,%wﬁ?ﬁﬁ%
Q) FRR T a]A
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71. Which one is incorrect ?
Category
(A) Public/Private Schools

(B) Govt. Employees

(C) Gallantry Awards Winners
of Armed Forces

(D) Thalassemia Patients

FE W& T ¥ 2
goft
(A) wresifeR/ T e

(B) TR wHHER

(C) WK |1 & a1 [W&hR fasr

(D) SHifrn A =i

‘TBC : TPTCO-23-BC—A
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Facility Provided
Allowed concessional travelling facility
for a month against payment of 40 single
fare (in ordinary buses).
Allowed concessional travelling facility
for a month against payment of 30 single
fare upto a distance of 50 kms. (in
ordinary buses)
Free travelling facility allowed within
and outside the State. (in all type of
buses).
Free travelling facility allowed within
and outside the State with one attendant

in Ordinary buses.

ua%rqfam
40 Thd T & oM & aqat # © wen
% faw gz =t a0 gfaw & € (wumo agi
) |
50 foheit 7 Y g0 O 30 Twel fopwran
YA % sed # Tw wEN & faw g2 w9
e gfaw § ® (WERy a6 F) |
T & ST 3T A G A0 Fferwn &
(|4t ¥R F a9 H)
YR 6 H TH WeEE B Y T B
3T 3R AR qod glaen & 7|

| P.T.O.



72. What was the initial name of the Road Transport Corporation formed in

Himachal Pradesh after the merger of 33 hilly states in 1948 ?

(A) Himachal Road Transport Corporation

(B) Mandi-Kullu Road Transport Cdrporation

(C) Punjab-Himachal Road Transport

(D) Himachal Govt. Transport

1948 ¥ 33 werEl TSl & oo’ or el # WR fewraa ww § nfed % uftEE

frm =1 yrfyes 9@ = @1 2?2

A) fear=a we& wfeed fm

(B) Wel-%eo] UeH Reed fH
(C) dsma-fearae ges uREe

(D) femrere WERI e

73. When did the merger of Himachal Govt. Transport and Mandi-Kullu Road
Transport Corporation take place, resulting in the formation of Himachal Road

Transport Corporation ?

(A) In 1974 (B) In 1966

(C) In 1972 D) In 1970

fermael Ter fiasd iR Fei-He wew aftasd frm %1 7ol e gan, e femrea
& Uiaed M &1 e gl ?

(A) 1974 H (B) 1966 H

(C) 1972 ¥ M) 1970 H
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74. Who is eligible for six free passes in a year for travelling within the State
in ordinary buses ?
(A) Cancer/Multi-fracture injuries patients
(B) State Awardees Teachers
(C) Hon’ble M.Ps./M.L.As with one attendant
(D) War widows with one attendant
HE TH T F T R T YR g€ H A & fou v g uw & ¥ 2
(&) T/ 9 T
(B) U9 q&FHd ﬁmﬁﬁ
(C) 9t wiwe/fauas Tw WeEE & WY
(D) gy favard ww wEES & WY
75. What percentage of the ticket amount will be deducted if an e-ticket is cancelled

within 4 to 12 hours prior to the departure time of the bus from the originating

station ?
(A) 5% (B) 10%
(C) 25% D) 20%

aﬁ@w%q\awﬁaﬁ@r%ﬁ4@1zﬁééﬁaé—ﬁwmmm
T @ fewre =t o # ¥ fFa wfowm w3 &t SR 2

(A) 5% (B) 10%

(C) 25% D) 20%
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76. Which of the following signs indicates that vehicles with a height above 3.5

i iy

meters are prohibited from entering ?
(A) No entry sign with a symbol of a truck
(B) Weight limit sign with a symbol of a truck

(C) Height limit sign with a symbol of a truck

(D) Length limit sign with a symbol of a truck

frefafen & & rmn fog 3996 # 3.5 @i @ IR & Tl B Rt s § 02
(A) TF & f98 & W9 No entry #1 fog

(B) T% & fag & WY Weight limit =1 fag

(C) Z% & fug & WY Height limit w. g

(D) & &% f98 & WY Length limit #1 fag

Which of the following signs indicates that there is a wild animal crossing
ahead ?

(A) Deer crossing sign with a symbol of a deer

(B) Elephant crossing sign with a symbol of an elephant

(C) Cattle crossing sign with a symbol of a cow

(D) -All of the above

frfafen 4 4 #ra fog 3w ¢ & oM el Sad & R & 2
A) f&u & wiis & @y few wifan fag

(B) Tt & wiiw & Wy wed wan fag

(C) T F ¥dfte & Wy HAM witgn fag

(D) 39gF |t
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78. What is the maximum penalty for drunken driving under the Motor Vehicles

79.

(Amendment) Act, 2019 ?

(A) Rs. 10,000 (B) Rs. 15,000

(C) Rs. 20,000 (D) Rs. 25,000

A 9 (FeieE) afufEd, 2019 # qed yWE dieR ME wem & fon sifiemm
Ju w2

(A) 10,000 %. (B) 15,000 %.

(C) 20,000 %. : (D) 25,000 %.

What is the new compensation scheme for road accident victims introduced by
the Motor Vehicles (Amendment) Act, 2019 ?

(A) The Act provides for higher compensation amounts

(B) The Act provides for faster compensation payments

(C) The Act provides for a wider range of injuries and damages that are covered
by compensation

(D) All of the above

MR ard (FeE) fufaam, 2019 g/ W& gHe difsdl & fou & &1 =

gfagfd e s & 2

(A) sfufam 3= gfagfd ofn wem & @

(B) srfufram &t ¥ aifqqfd M wem @ § :

(©) wfufrm sfrgfd <am #er 1 T 99 iR wfEl # ww faege gEe wH
F T

(D) 3vdsa |t
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80.

81.

82.

TBC : TPTCO-23-BC—A ' 39

Under the Motor Vehicles (Amendment) Act, 2019, what is the maximum penalty

for driving without a licence ?

(A) Rs. 5,000 (B) Rs. 10,000

(C) Rs. 15,000 (D) Rs. 20,000

A aed (FEIeA) a:fuﬁw 2019 & Ted, fom omRE9 ® 9ed WM & fau
stferas T o % 2

(A) 5000 & (B) 10,000 %.

(C) 15,000 %. (D) 20,000 %.

The greatest number less than 900 which is divisible by 8, 12 and 28 is :
(A) 168 (B) 336

(C) 840 (D) 494
qmafmnémeﬁgooﬁﬁﬁama,lzqd 28 ¥ wifv@ &, ®

(A) 168 | (B) 336

(C) 840 (D) 494

Which one of the following fraction is smallest ?

6 19
(A) ‘1“‘1“ | (B) §6

13 3
(C) 18 (D) 1

fr d 9 A9 = we) 89 & 2

6 19
(A) 11 (B) 36

13 3
(©) 18 (D) 1



83.

84.

85.

A motorcycle travels 20 km an hour faster than a cycle over a journey of 600
km. The cycle takes 15 hours more than the motorcycle, then the speed of
motorcycle is :

(A) 20 km/h (B) 30 km/h

(C) 40 km/h _ (D) 50 km/h

600 fwH =t AN | T HIX TEFd, TEHd 9 T 9§ 20 fFh wer 3 9 w

R ORFA 39 AR 9ESd @ 15 T2 SURI odl §, 99 Hel 9EEe & U ¥ o

(A) 20 fH/H. (B) 30 /.
(C) 40 fw/=. (D) 50 fwwi/.

How many numbers upto 200 are divisible by 4 and 3 together ?

(A) 12 (B) 16
(C) 20 = D) 50
ﬁw200wiﬁﬁmﬁé&qﬁ%ﬁﬁ4aﬁ3ﬁ@mawﬁa% ?
(A) 12 (B) 16
(©) 20 D) 50

If the annual increase in the population of a town is 4% and the preseﬁt number
of people is 15,625, then t.l-'le population of the town in the next three years
is :

(A) 17576 (B) 17676

(C) 17776 ' (D) 17876

A T TR F T d 4% F AH w@ad a0 ¥ oo A A A @ ogen
15,625 &, @& 3T F a6 § TR HI SEEA Rl o

(A) 17576 (B) 17676

(C) 17776 (D) 17876
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86. If one-third of a tank holds 45 litre of water, then the quantity of water that

87.

88.

half of the tank holds is :

(A) 22.5 litre (B) 90 litre

(C) 67.5 litre (D) 75 litre

R g H I B Y W 45 AR G @ ¥, @ IF B ond fed A wrelt Wy
e ¥

(A) 225 ?hz'{ (B) 90

(C) 67.5 i D) 75 TR _
Mohanlal covers half of his journey from Shimla to Mandi at 12 km/h and
the remaining half at 36 km/h. His average speed is :

(A) 18 km/h (B) 24 km/h

(C) 30 km/h (D) 27 km/h

Herare fmen § 7uet @ A w1 e fewm 12 /. #Y W @ 99w ®
qen o= gon fewwm 36 fF/e. ¥ w3 @ ¥ ot ofww W %

(A) 18 f&si/s. (B) 24 f&di/s.

(C) 30 feri/s. (D) 27 fwHi/H.

The speed of three cars is in the ratio 1 : 2 : 5. The ratio of times taken by
the cars to travel the same distance is : |

(A) 2:4:10 B) 10:5:%2

@) 2:6:1 M 2:1:6

T R w T w S 1:2:5 % R @ W @ w0 F wA o fd M
HHY 1 U ¥

A) 2:4:10 3 Wz hi2

C)y2:5:1 ) D 2:1:86
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89.

90.

91.

The area of rectangle having length 24 ¢m and the breadth 21 e¢m is :

(A) 45 cm? (B) 90 cm?

(C) 504 cm? (D) 270 cm?

T ra fowdt o 24 ¥ qgn deE 21 T R, W odwa
(A) 45 &2 (B) 90 &2

(C) 504 &2 (D) 270 {2

The difference between the local value and the face value of 8 in the numeral

61845 is :
(A) 840 | (B) 808
(C) 792 (D) 805

3% 61845 H 8 & TG HWH qon 3ifkd WA H afR T .
(A) 840 (B) 808
(C) 792 ' (D) 805

Pointing out to a lady, Ramprakash said, “She is the daughter of woman who is
the mother of the husband of my mother.” Who is the lady to Ramprakash ?

(A) Aunt (B) Daughter

(C) Sister : (D) Grand-daughter

T Afec # Foha A R@m g, TwEw e, Caw 5w afeen oot ¥ S e oA
A % 9fd A R 99 o9 ufeen THyE™ @ ¥

(A) &t (B) YAt

(C) ==A (D) gt
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92. Nitin ranks eighteenth in the class of 49 students. What is his rank from the

last ?
A) 31 (B) 33
(C) 34 ' D) 32

49 foenfedi =t wan # ffd &1 W 3eReEa ¥ 9 3 QA wWH FW T ?
(A) 31 (B) 33 )
(C) 34 (D) 32

93. If 4th day of a month is Saturday, then which day will be on the 27th of the

month ?
(A) Monday (B) Thursday
(C) Saturday (D) Friday
TF HEH w1 Sten i wfEr § 79 @ wd@R @ 276t A s 2
(A) HHaR (B) TraR
(C) wIffam (D) YHaR
2 9
94. The missing number in the figure 27 | 18 is :
(A) 40 ; (B) 36
(C) 54 (D) 63
M 8
o o7 [1g | H ¥URem s § -
(A) 40 | (B) 36
(C) 54 (D) 63
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95. On the basis of the relationship between the first two words, the right choice

96.

97.

for the missing word in the second pair ?

Doctor : Nurse " ? : Follower

is :
(A) Worker (B) Employee
(C) Union (D) Leader

TEA R UK P Fadl B MUR W, qEA NE § Ui v F WE T ¢
Doctor : Nurse :" ? : Follower

(A) Worker (B) Employee

(C) Union (D) Leader

(Q. No. 96 to 100) :

A cube of 5 cm length has been coloured black on each surface and then it

has been subdivided into smaller cubes of length, 1 cm. Now answer the following

questions :

(M. %. 96 ¥ 100) :

5 it T A1 U9 % YA YRS HI HAl TN A T AT THHRI 1 FH qEE B
Bie-v1e w4 fawifsa fean @0 81 @ = e & s ST

How many cubes are there with only one face coloured black ?

(A) 54 (B) 12

(C) 18 (D) 17

FId TH FA TN gL T8 a7 WA & e fFHa & 2
(A) 54 (B) 12

(C) 18 D) 17

How many cubes are there which have three of their faces coloured black ?
(A) 6 (B) 8

(C) 4 D) 3

Had qF FA W W IS I WA FT GEn fwadt § 2
(A) 6 : (B) 8

C) 4 D) . 3
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98.

99.

100.

How many cubes are there which have only two of their faces coloured

black ?

(A) 20 (B) 24

(C) 38 (D) 36

99 D FAW TS A T F g R E 2
(A) 20 (B) 24

(C) 38 * (D) 386

How many cubes are there which have none of their faces coloured with any

colour ?

(A) 18 B) 27
(C) 26 (D) 39
o @ g T A w1 wen e &2
(A) 18 B) 27
(C) 26 (D) 39

How many cubes will be obtained after cutting the original bigger cube of

5 em ?
(A) 24 (B) 625

(©) 125 D) 64
sﬁaﬁ'a@n@ﬁ:mﬁwaﬁaﬁmﬁmmﬁﬁ ?
(A) 24 (B) 625 '

(C) 125 D) 64
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